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Q.1 Answer the following MCQs with correct option (Each of One Mark). (10)

L.

When operating pointis .............. , negative clipping happens.
(a) near saturation region (b) near cut-off region
(¢) at middle of active region (d) in saturation region.

2. Which bias circuit is also known as ‘biasing circuit independent of beta™?
(a)Fixed (b} Collector to Base (c) Voltage divider  (d) Emitter

3. Which bias circuit requires one positive and one negative power supply?

~(a) collector to base (b) voltage-divider (c) fixed (d) emitter

4. Which of the following h-parameter represents ‘feedback’ of the output voltage

to the input of a CE transistor ?
(a) by (b) M (c) be (d) he.

5. Which h-parameter of a CE transistor circuit is measured in ohm?
(a) hoe (b) hie (0) hre (d) hfe ‘

6. Using negative feedback ........... can be increased.

- {a) harmonic distortion  (b) noise  {c) bandwidth (d) gain

7. For negative feedback, the phase difference between the feedback signal and:

input signal must be of ...... degree.
(a)270 (b) 360 . (c} 90 (d) 180.

8. Due to series feedback connection input impedance of amplifier .... ...

- (a)) remains unchanged (b) decreases (c) increases (d) becomes zero.

9. Which oscillator is used to obtain signals of frequency above 1 MHz?

(a) Hartley  (b) Colpitts (¢) Phase shift (d) Crystal
10. Phase shift oscillator is atype of .......... Oscillator.
(a) RC () LC (¢) Crystal (d) Colpiits

Answer any TEN questions in short (Each of two Mark) 20

1. What is operating point? Why it shifts?

2. With proper diagram explain effect of operating point on output signal
when it is near to saturation region,

3. Draw the circuit of Emitter bias circuit and state its feature.

4. For a CE transistor circuit, at a certain fixed base current , 4i, is of 0.1
mA corresponding to Aveg. of 3 V. Determine its output 1mpedance

5. State advantages of expressing voltage gain in dB.

6. A multistage amplifier is with three stages of voltage pain 10, 100 and
1000 respectively. Determine the overall gain of the amplifier in dB.

7. Explain importance of use of feedback in amplifiers.

8.  An amplifier is with input impedance (Z;) of 1 kQ has a voltage gain (A)
of 1000. It uses negative feedback with feedback factor f =0.01. Calculate
the input impedance of the feedback amplifier,

9. State importance of Emitter follower circuit.

- 10. State and Explain Barkhausen criterion of oscillations.
11. Explain importance of Crystal oscillators.
12. In Wein bridge oscillator ,the RC network is consists of R;=R;=220 k()

and C; =Cy= 250 pF. Determine its frequency of oscillations.
(P_.’_!‘.O.)
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Explain determination of operating point for fixed bias circuit. State
fimitations of this circuit.
Draw the Fixed bias circuit with Ve = 9V, Rg =300 kQ, R =2 kQ,
and B = 50. Determine Ip, I¢, o and Vg of the circuit.

OR _
With suitable diagram explain determination of operating point of a
voltage divider biasing circuit using approximate analysis method.
State advantages of this circuit,

Draw voltage divider biasing circuit with Vo= 12V, Ry =40kQ, Ry =
5kQ, Rg = 1k and Re = 5 kQ. Using necessary equations of

approximate analysis method, determine Vg, Ig and Ver of the circuit,
(Given Vgg =0.3V).

State quantities that determine performance of a voltage amplifier.

Using equivalent circuit method develops ac equivalent 01rcu1t of a CEE

transistor.

What are small signal amplifiers? Draw the circuit of a single stage CE

amplifier and define its gain. ' '
OR

Explain h-(hybrid) parameters of a transistor and obtain h-parameter

equivalent circuit of a CE transistor.

What is a multlstage amphﬁer‘? Explain its voltage gain. State its gain

~ indB.
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Derive expression for voltage gain (4, of a series voltage negative
feedback amplifier in terms of its internal gain (4).
Using block diagram explain various types of feedback and state one
feature of each.

OR

.State advantages of negative feedback and discuss the effect of

negative feedback on (i) input impedance & (ii) output impedance
of an amplifier.
Discuss the effect of negative feedback on gain and its stabﬂlty

What are LC oscillators? Explain (i) Hartley oscillator and (11) Colpitts

- Qscillator circuits.

, OR R :
Explain principle of RC oscillators and explain (i) phase shift and __(ii)
Wein bridge oscillator circuits. ' '
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